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Important Instructions: 

1. This test booklet is to be opened only when instructed by the invigilators to do so. 
2. This booklet carries 50 questions. All questions carry equal marks. 
3. For every correct answer, candidate will earn 2 marks; 0.5 marks will be deducted 

for every wrong answer. 
4. Exam Seat Number must be entered correctly in the OMR sheet, as instructed by 

the invigilators. The Question Booklet code (A, B, C or D) must also be mentioned 
on the OMR sheet (If not printed already) as instructed. 

5. Answers must be marked in the OMR sheet using a black or dark blue ball point 
pen only. The circle should be filled in completely, leaving no gaps. 

Correct way of marking answer:         Incorrect ways of marking answer: 

 
6. Gadgets (Mobile phones, pagers, earphones, music players, calculators etc.) are 

strictly prohibited in the exam hall. If any candidate is found in possession of any of 
these at his/her exam seat, he/she is liable to be disqualified. 
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Questions 
̆ĕો   

1. Make the following sentence grammatically correct by replacing the underlined phrase  
from the options given.  

 “She always behaves as if she has not care at all about my feelings.” 

 (A) as though she will not  (B) as if she doesn’t   

 (C) as far as she doesn’t   (D) like if she does not. 

2.  Fill in the blanks with the correct form of the verbs given in the brackets choosing from 
the alternatives given. 

  “We _____ (plan) to go to a hill station. Last year we ______(go) to Shimla. We ____ 
(decide) to go somewhere else this time.” 

 (A) planned, went, decided  (B) have planned, have gone, have decided 

 (C) are planning, went, have decided (D) plan, went, decided.  

3. Fill in the blanks using one of the alternatives given to make the sentence complete. 

 “The child kept on crying while it _______. 

 (A) is bathed    (B) is being bathed    

 (C) was bathed    (D) was being bathed. 

4. Select the word which is closest to the opposite in meaning of the underlined phrase in 
the following sentence. 

 “He was on pins and needles while his wife was undergoing an operation.” 

 (A) unexcited  (B) at rest   (C) undisturbed (D) relaxed. 

5. Choose the word nearest in meaning to the underlined word in the following sentence. 

 “The young girl appeared self-possessed in front of TV cameras”. 

 (A) shy  (B) confident  (C) introvert  (D) extrovert. 

6. Choose the option containing the right sequence of articles that would complete the 
passage given below. 

        “ _____________  Mettur dam is _________ old multi-purpose project of ________ 
South Indian state of Tamil Nadu across _________ Cauvery river.”  

        (A) a, an, no article, the                             (B) the, an, the, the 

        (C) an, a, the, no article                             (D) no article, a, the, an. 

7. There are two blank spaces given in the following sentence. Fill the blanks choosing 
from the pair of words given in the same sequence to make the sentence meaningfully 
complete. 

 “It is ______ for every tax payer to ______ the tax returns to the income tax 
department”. 

 (A) necessary, lodge   (B) binding, pay 

 (C) obligatory, submit   (D) possible, remit. 

(Continued on slip no. 2) 
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8. Storage area of e-mail messages is called 

        ઈ - મેઈલ સદં°શા ઓ નો સં˴ હ ðા ંથાય છે? 

 (A)  folder (ફોƣડર)                 (B) mail box (મેઈલ બોƈસ) 

        (C)  file (ફાઈલ)                   (D) directory  (�ડર°ƈટર�). 

9. The Web browsing software Google Chrome was developed by Google Inc. in the year 

         વેબ ̈ાઉઝӄગ સોƝટવેર : Ȥગૂલ ˲ોમ ને Google Inc. Ďારા કયા વષ½ મા ંિવકસાવવામા ંઆƥȻુ ંહȱ ુ?ં 

 (A) 2010  (B) 2007  (C) 2008  (D) 2009. 

10. Which virus has been recognized as the first mobile phone virus in the world? 

         િવĖ ના ̆થમ મોબાઇલ ફોન વાયરસ તર�ક° કયા વાયરસ  ને ઓળખવામા ંઆવે છે?  

 (A) Good Times virus (Ȥડુ ટાઇમ વાયરસ) (B) Friday virus (̇ાઈ ડ° વાયરસ)  

 (C)  Smart dog (ƨમાટ½ ડોગ)               (D) Cabir (કા�બર). 

11. Which of the following is the fastest to read from and write to than the other kinds of 
storage in a computer? 

        કોƠƜȻટુર મા ંઅƛય ̆કાર ના ƨટોર°જ કરતા નીચેનામાથંી ɉુ ંવાચંવા- લખવા માટ° સૌથી ઝડપી છે? 

 (A) CD-ROM (સી ડ�- રોમ)    (B) Floppy Disc  (Ɲલોપી �ડƨક)  

 (C) RAM (ર°મ)     (D) Hard Disc (હાડ½ �ડƨક). 

12. In Excel, getting data from a cell located in a different sheet is called  

        એƈસેલ (Excel) મા ંઅલગ શીટ મા ં�ƨથત સેલ માથંી ડ°ટા મેળવવાને _________ કહ°વામા ંઆવે છે. 

 (A)  Referencing (ર°ફર�ƛસ�ગ)   (B) Updating (અપડ°�ટ�ગ)   

 (C) Accessing (એકસેસӄગ)                         (D) Functioning (ફંકશનӄગ). 

13. What does COUNTA( ) function do in MS Excel? 

         એમ એસ એƈસેલ (MS Excel) મા ં COUNTA() ȵુ ંકાય½ Ƀુ ંછે? 

 (A)  Counts cells having alphabets (Ⱥળૂાëરો ધરાવતા કોષોની ગણતર� કર° છે) 

        (B)  Counts empty cells (ખાલી કોષોની ગણતર� કર° છે) 

 (C)  Counts cells having numbers (સƉંયા ધરાવતા કોષોની ગણતર� કર° છે)   

        (D)  Counts non- empty cells (ખાલી ન હોય એવા કોષોની ગણતર� કર° છે). 

14. In MS Word, background colour or effects applied on a document is not visible in  

         એમ એસ વડ½ (MS Word)  મા ંબેક˴ાઉƛડ કલર અથવા ડોɉમેુƛટ પર લાȤ ૂકરવામા ંઆવેલ અસર 

__________ મા ંજોઈ શકાતી નથી. 

 (A)  Web layout view (વેબ લે આઉટ ƥȻ)ુ    (B) Print layout view (િ̆ƛટ લે આઉટ ƥȻ)ુ 

 (C) Reading view (ર��ડ�ગ ƥȻ)ુ      (D) Print preview (િ̆ƛટ ̆ીƥȻ)ુ.  
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15. Which of the following is not a valid version of MS office? 

        નીચેના માથંી કȻુ ંએમએસ ઓ�ફસ (MS Office) ȵુ ંમાƛય સƨંકરણ નથી? 

 (A) Office 2007 (ઓ�ફસ 2007)      (B) Office vista  (ઓ�ફસ િવƨટા) 

       (C) Office 2016 (ઓ�ફસ 2016)                (D) Office 365 (ઓ�ફસ 365). 

16. Which option in MS Power Point allows to carry slides from one computer to another? 

         એમએસ પાવર પોઇƛટ (MS Power point ) મા ંકયો િવકƣપ એક કોƠƜȻટુરથી બીĤ કોƠƜȻટુરમા ંƨલાઈͭસ 

 લઈ જવાની પરવાનગી આપે છે? 

 (A) Save As (B) Save and Go (C) Pack and Go (D) Web and Go. 

17. In MS Power Point, in order to see all slides on one screen, we use 

         એમ એસ પાવર પોઇƛટ (MS Power Point ) મા ં બધી ƨલાઈͭસ એક ƨ˲�ન પર જોવા માટ° શેનો ઉપયોગ 

કર�એ છ�એ? 

 (A) View, slide sorter    (B) View, slide   

 (C) View, master     (D) View, slideshow. 

18. Sweating during exercise indicates operation of which of the following process in the 
human body? 

        ƥયાયામ દરિમયાન પરસેવો માનવ શર�રમા ંનીચેનામાથંી કોઈ ̆�˲યા ȵુ ંસચંાલન Ʌચૂવે છે?  

 (A) Enthalpy (એનથƣેપી)    (B) Homeostasis (હોમીઓƨટ°િસસ)  

 (C) Phagocytosis (ફ°ગોસાયટોિસસ)   (D) Osmoregulation (ઓƨમો ર°ƊȻલેુશન). 

19.  Nobel prize for the prediction of Meson particles was awarded to 

        મેસોન કણો ની આગાહ� માટ° નોબેલ ȶરુƨકાર __________ ને એનાયત કરવામા ંઆƥયો હતો. 

 (A) H. Yukawa (એચ. Ȼકુાવા)   (B) Max Plank (મƈેસ Ɯલાકં) 

 (C) Fermi (ફરમી)                 (D) Anderson (એƛડરસન). 

20. Out of the following remains excavated in Indus Valley, which one indicates the 
commercial and economic development? 

         િસ�ȴ ુખીણ મા ંખોદવામા ંઆવેલા અવશેષોમાથંી નીચેનામાથંી કȻુ ંઅવશેષ ƥયાપાર� અને આિથ�ક િવકાસ 

દશા½વે છે? 

 (A) Pottery (માટ�કામ)                             (B) Seals (િસƣસ) 

 (C) boats (નૌકાઓ)                              (D) Houses (મકાનો). 

21. The Mauryan dynasty was overthrown by 

         __________Ďારા મૌય½ વશં ને ઉથલાવવામા ંઆƥયો હતો. 

 (A) Harsha (હષ½)                 (B) Samudragupta (સȺુ̃  ȤƜુત) 

 (C) Pushyamitra Shunga (ȶƧુય િમ́ Ƀુગં)          (D) Kanishka (કિનƧક). 
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22. Which of the following is not a fundamental right?  

         નીચેનામાથંી કયો Ⱥળૂȹતૂ અિધકાર નથી ? 

 (A) Right to Equality (સમાનતાનો અિધકાર)  

        (B) Right against Exploitation (શોષણ સામે અિધકાર) 

        (C) Right to Property (િમલકતનો અિધકાર)    

        (D) Right to Freedom of Religion (ધમ½ની ƨવતં́ તાનો અિધકાર). 

23.  The eighth Five Year Plan gave priority to 

          આઠમી પચંવષ�ય યોજનામા ંકોન ે̆ાથિમકતા આપવામા ંઆવી હતી? 

 (A) industrial growth (ઔČો�ગક િવકાસ)               

        (B) promotion of exports (િનકાસ ને ̆ોƗસાહન)   

 (C) increasing agricultural productivity (Ȣૃિષ ઉƗપાદકતામા ંવધારો) 

        (D) employment generation (રોજગાર િનમા½ણ). 

24. In which year, Sardar Vallabhbhai Patel was awarded with Bharat Ratna award? 

         સરદાર વƣલભભાઈ પટ°લ ને કયા વષ½મા ંભારત રƗન એવોડ½ આપવામા ંઆƥયો? 

 (A) 1991   (B) 1992  (C) 1993  (D) 1994. 

25. The second largest island in the world is 
         િવĖ નો બીજો સૌથી મોટો ટાȶ ુકયો છે? 

 (A) Borneo (બોન�યો)    (B) Madagascar (માડાગાƨકર)   

 (C) New Guinea (ƛȻ ુ�ગની)                 (D) Greenland (˴ીનલƛેડ). 

26. Let 𝑎 and 𝑏 be two positive integers.  The L.C.M. of 𝑎 and 𝑏 is sixteen times their H.C.F. 
The sum of H.C.F and L.C.M is 850. If 𝑎 is given to be 50, the value of 𝑏 is 

 બે ધન ȶણૂા¿કો 𝑎 અને 𝑏 આપેલ છે. 𝑎 અને 𝑏 નો L.C.M. તેમના ંH.C.F. ના 16 ગણા છે. L.C.M. અને H.C.F.  

 નો સરવાળો 850 છે. જો 𝑎 = 50 હોય તો 𝑏 ȵુ ંȺƣૂય ક°ટɀુ ંથશે? 

      (A) 830   (B) 800   (C) 700   (D) 550. 

27.  The value of ට
(଴.଴ଶ)మା(଴.଴ଷ)మା(଴.଴ସ)మ

(଴.଴଴ଶ)మା(଴.଴଴ଷ)మା(଴.଴଴ସ)మ
  is 

       ට
(଴.଴ଶ)మା(଴.଴ଷ)మା(଴.଴ସ)మ

(଴.଴଴ଶ)మା(଴.଴଴ଷ)మା(଴.଴଴ସ)మ
       ȵુ ં Ⱥƣૂય __________ . 

 (A) 0.048   (B) 0.48  (C) 10   (D) 0.023. 

28. Let 𝑛ଵ, 𝑛ଶ, 𝑛ଷ, 𝑛ସ. 𝑛ହ, 𝑛଺, 𝑛଻ be seven consecutive even numbers and 𝑚ଵ, 𝑚ଶ, 𝑚ଷ, 𝑚ସ. 𝑚ହ 
be five consecutive odd numbers, then the average of all the twelve numbers is 

આપેલ સાત ˲િમક બેક� સƉંયા ઓ 𝑛ଵ, 𝑛ଶ, 𝑛ଷ, 𝑛ସ. 𝑛ହ, 𝑛଺, 𝑛଻  છે.  અન ે𝑚ଵ, 𝑚ଶ, 𝑚ଷ, 𝑚ସ. 𝑚ହ એ પાચં 

˲િમક એક� સƉંયા ઓ છે.  તો આ બાર સƉંયાઓ ȵુ ંસર°રાશ Ⱥƣૂય ક°ટɀુ ંથાય? 

 (A)  ହ௡ళା଻௠ఱ

ଵଶ
  (B) ଻௡ళାହ௠ఱ

ଵଶ
  (C) ଻௡రାହ௠య

ଵଶ
  (D) ଻௡భାହ௠భ

ଵଶ
. 
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29.   If 𝑚% of 𝑎 is equal to 𝑛% of 𝑏, then 𝑝% of 𝑏 is what percentage of 𝑎? 

 જો 𝑎 ȵુ ં𝑚 % એ 𝑏  ના 𝑛% બરાબર હોય તો 𝑏 ȵુ ં𝑝% એ 𝑎 ની ક°ટલી ટકાવાર� થશે? 

        (A)  ௠
௡

%   (B)  ௡

௠
%  (C)  ௡௣

௠
%  (D)  ௠௣

௡
%. 

30. In a partnership business three brothers 𝑃, 𝑄 and 𝑅 do certain investments for time 
periods which are in the ratio 2: 1: 8. At the end of the business term, they receive the 
profits in the ratio 3: 4: 2. Then the ratio of investments of 𝑃, 𝑄 and 𝑅 is 

       ભાગીદાર� ના ંƥયવસાય મા ં́ણ ભાઈઓ 𝑃, 𝑄 અને 𝑅 ચોïસ સમયગાળા માટ° ચોïસ રોકાણ કર° છે Ȑનો 

ȤણુોĂર 2:1:8 છે.  ƥયવસાય ની Ⱥદુત ના ંӔતે તેઓ 3:4:2 ના ંȤણુોĂર મા ંનફો મેળવે છે.  તો 𝑃, 𝑄, 𝑅 

ના રોકાણ નો ȤણુોĂર = 

        (A) 6: 16: 1  (B) 3: 8: 1  (C) 1: 6: 16  (D) 3: 16: 1. 

31. The upper end of a ladder, which is leaning on a vertical wall, coincides with the top of 
the vertical wall. The bottom end of the ladder is 10 m away from the wall and makes 
an angle of  60଴ with the horizontal ground. While a man starts climbing the ladder, it 
slips away and stops when it makes an angle of 30଴ with the horizontal ground. Then 
the ladder slips away a distance of   

         એક િનસરણી દ�વાલ પર ટ°કવલેી છે. તેનો ઉપરનો છેડો ઊભી દ�વાલ ની ટોચ સાથે મળેલો છે. િનસરણી નો 

નીચેનો છેડો દ�વાલ થી 10 મીટર ȳૂર છે અને જમીન સાથે 60଴ નો ȣણૂો બનાવે છે. Ԍયાર° માણસ િનસરણી 

પર ચઢવાȵુ ંશĮ કર° છે Ɨયાર° તે સરક� Ĥય છે.  અને 30଴ ના ȣણેૂ તે અટક� Ĥય છે. તો િનસરણી ક°ટલા 

Ӕતર° સરક� ગઈ હશે?  

 (A) ଶ଴

√ଷିଵ 
𝑚  (B) ଵ଴

√ଷିଵ 
𝑚  (C) 20൫√3 − 1൯𝑚 (D) 10൫√3 − 1൯𝑚. 

32.  If 𝑥 and 𝑦 are given by the expressions  𝑥 = (𝑐𝑜𝑠12଴ − 𝑐𝑜𝑠36଴)(𝑠𝑖𝑛96଴ + 𝑠𝑖𝑛24଴) and 
𝑦 = (𝑠𝑖𝑛60଴ − 𝑠𝑖𝑛12଴)(𝑐𝑜𝑠48଴ − 𝑐𝑜𝑠72଴), then the value of  ௫

௬
  is 

        જો 𝑥 = (𝑐𝑜𝑠12଴ − 𝑐𝑜𝑠36଴)(𝑠𝑖𝑛96଴ + 𝑠𝑖𝑛24଴)  અન ે𝑦 = (𝑠𝑖𝑛60଴ − 𝑠𝑖𝑛12଴)(𝑐𝑜𝑠48଴ −

𝑐𝑜𝑠72଴)  હોય તો  ௫
௬

=        

 (A) 2   (B) 0   (C) 1   (D) −2 . 

33. If Rs 12000 is divided into two parts such that the simple interest on the first part for 
three years at 12% per annum is equal to the simple interest on the second part for 4 ଵ

ଶ
 

years at 16% per annum. Then the greater part is 

         ȿુ. 12000 ને બે ભાગ મા ંએવી ર�તે િવભા�જત કરવામા ંઆવે છે ક° એક ભાગ પર 3 વષ½ માટ° વાિષ�ક 12% 

ના દર° સાદા ƥયાજની રકમ, અને બીĤ ભાગ પર 4
ଵ

ଶ
 વષ½ માટ° વાિષ�ક 16% ના દર° સાદા ƥયાજની રકમ, એ 

બનેં રકમ સરખી થાય છે. તો મોટો ભાગ ક°ટલી રકમ નો હશે? 

 (A) 𝑅𝑠 4000  (B) 𝑅𝑠 8000  (C) 𝑅𝑠 9000  (D) 𝑅𝑠 5000. 

34. A sum of 𝑅𝑠 2000 amounts to 𝑅𝑠 2315.25 in  1 ଵ

ଶ
 years with interest being compounded 

half-yearly. The rate percent of interest per annum is 

       અધ½વાિષ�ક ચ˲ɂ�ૃć ƥયાજ સાથે 1
ଵ

ଶ
 વષ½મા ંĮ. 2000 ની રકમ Į. 2315.25 Ȑટલી થાય છે. તો વાિષ�ક ƥયાજ 

નો  દર ________ % છે. 

 (A) 8.5%   (B) 10%  (C) 5%   (D) 6.5%. 
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35. A railway track-man standing near railway tracks finds that two trains running in 
opposite directions cross him in 30 seconds and 15 seconds, respectively. If the trains 
cross each other in 25 seconds, the ratio of the speeds of the trains is 

        ર°લવે °˼ક પાસે ઉભેલા એક ર°લવે °˼ક-મેન ને લાગે છે ક° િવȿુć �દશામા ંદોડતી બે °˼નો તેને અȵુ˲ મે 30 

સેકƛડમા ંઅને 15 સેકંડમા ં˲ોસ કર° છે. આ બે °˼ન એકબીĤને 25 સેકંડ મા ં˲ોસ કર° છે, તો °˼નોની ઝડપ નો 

ȤણુોĂર _______ થશે. 

 (A) 2: 1  (B) 1: 2   (C) 3: 2  (D) None of the above. 

36. The circumference of a circle is 10% more than the perimeter of a square. If the 
difference between the area of the circle and the area of the square is 216𝑐𝑚ଶ, how 
much does the diagonal of the square measure? 

         વȱુ½ળ નો પ�રઘ , ચોરસની પ�રિમિત કરતા 10% વȴ ુછે.  જો વȱુ½ળ ના ંëે́ફળ અને ચોરસ ના ëે́ફળ 

વƍચે નો તફાવત 216 વગ½ સે.મી. હોય તો ચોરસના ંકણ½ ȵુ ંમાપ ક°ટɀુ ંથશ?ે 

 (A) 30 𝑐𝑚   (B) 25 𝑐𝑚  (C) 20 𝑐𝑚  (D) 15 𝑐𝑚. 

37. If the radius of a right circular cone is increased by 𝑞% without increasing its height, 
then the percentage increase in the volume of the cone is 

        ગોળાકાર શȢું ની િ́Ԍયા તેની әચાઈ વધાયા½ િવના q% વધે છે. તો શȢું ના ઘનફળ મા ંટકાવાર� મા ંક°ટલો 

વધારો થશે?  

 (A) 2𝑞ଶ   (B) 𝑞 + 𝑞ଶ  (C) ௤మ

ଵ଴଴
   (D) 𝑞 ቀ2 +

௤

ଵ଴଴
ቁ. 

38. A man sells a table and chairs for Rs. 4000 each, neither losing nor gaining in the deal. If he sold 
the table at a gain of 25%, then the chairs he sold at a loss of 

        એક ƥય�ƈત ટ°બલ અને ȣરુશી દ�ઠ દર°ક ને Į. 4000 મા ંવેચે છે.  એમા ંએને નફો ક° ȵકુસાન થȱુ ંનથી.  જો 

તે ટ°બલ ને 25% નફો લઈને વેચે તો ȣરુશી વેચવામા ંથȱ ુ ંȵકુસાન ક°ટɀુ ંહશે? 

 (A)  16
ଶ

ଷ
%   (B) 18ଶ

ଷ
%  (C) 23%   (D) 20%. 

39. The missing fraction in the series  ସ
ଽ

 ,
ଽ

ଶ଴
 , −,

ଷଽ

଼଺
  is 

 આપેલી ̒ેણી: 
ସ

ଽ
 ,

ଽ

ଶ଴
 , −,

ଷଽ

଼଺
  મા ંખાલી જƊયા ના ંƨથાન,ે આપલે િવકƣપોમાથંી યોƊય સƉંયા Ⱥકૂો. 

 (A)  ଵଽ

ସଶ
   (B)  ଵସ

ଷ଼
   (C)  ଶ଴

ସହ
   (D)  ଵ଻

ସ଴
. 

40.  What will come in place of the question mark in the following series? 

         આપેલી ̒ેણીમા ં̆ĕ �ચƛહના ંƨથાને, આપેલ િવકƣપોમાથંી  કઈ સƉંયા આવશે? 

   117, 389, 525, 593, 627, ? 

 (A) 680   (B) 676   (C) 644    (D) 686. 

41.  Select the related word from the given alternatives.  

        આપેલ િવકƣપો માથંી યોƊય િવકƣપ પસદં કરો. 

                           𝑃𝑟𝑖𝑑𝑒 is to 𝑙𝑖𝑜𝑛 as 𝑠ℎ𝑜𝑎𝑙 is to                           

 (A) student                    (B) teacher                 (C) self-respect         (D) fish. 
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42. Fill in the blank in the following.     

         નીચેના મા ંયોƊય િવકƣપ Ⱥકૂ� ખાલી જƊયા ȶરૂો.      

                Triangle : Hexagon :: ____________.                  

 (A) cone : sphere       (B) pentagon : heptagon  

 (C) rectangle : octagon      (D) angle : quadrilateral. 

43. What comes in place of the question mark in the following? 

         ̆ĕ �ચƛહના ંƨથાને, આપેલ િવકƣપોમાથંી   યોƊય િવકƣપ Ⱥકૂો. 

  𝐶3𝐹6 ∶  𝐼9𝐿12 ∶ : 𝐾11𝑁14 ∶ ? 

 (A) 𝐿16𝑂15  (B) 𝑄17𝑇20  (C) 𝑅18𝑈21  (D)  𝑁18𝑄21. 

44. In a certain language ‘to be polite’ is coded as ‘fa so la’, ‘she is polite’ is coded as ‘so me 
pa’ and ‘to have manners’ is coded as ‘na la ma’. What is the code for ‘be’ in that 
language? 

        એક ચોïસ સાકં°િતક ભાષા મા ં'to be polite' ને 'fa so la' તર�ક° લખવામા ંઆવે છે. 'she is polite' ને 

સાકં°િતક ભાષામા ં'so me pa' લખવામા ંઆવે છે. અને 'to have manners' ને 'na la ma' તર�ક°  

લખવામા ંઆવે છે. તો આ સાકં°િતક ભાષા મા ં'be' ને Ƀુ ંલખાશે? 

 (A) me   (B) la   (C) fa   (D) so. 

45. A and B are brothers. X is sister of Y and X is mother of A. What is Y to B? 

        A  અને B બે ભાઈઓ છે. X એ Y ની બહ°ન છે.  અને X એ A ની માતા છે. તો Y નો B સાથેનો Ƀુ ંસબંધં હશે? 

 (A) Uncle (Ӕકલ)     (B) Brother (ભાઈ) (C) Father (િપતા)       (D) Mother (માતા). 

46. If 𝑃 + 𝑄 means 𝑃 is the brother of 𝑄; 𝑃 × 𝑄 means 𝑃 is the father of 𝑄 and 𝑃 − 𝑄 
means 𝑃 is the sister of 𝑄, then which of the following relations shows that 𝐼 is the 
niece of 𝐾? 

 જો 𝑃 + 𝑄 એટલે 𝑃 એ 𝑄 નો ભાઈ છે; 𝑃 × 𝑄 એટલે 𝑃 એ 𝑄 નો િપતા છે અને 𝑃 − 𝑄 એટલે 𝑃 એ 

 𝑄  ની બહ°ન છે, તો નીચેનામાથંી કયો સબંધં બતાવ ેછે ક° 𝐼 એ 𝐾 ની ભ́ીĥ છે? 

 (A)  𝐾 + 𝑌 × 𝐼 − 𝑍   (B) 𝐾 + 𝑌 + 𝑍 − 𝐼 

 (C) 𝑍 − 𝐼 × 𝑌 + 𝐾   (D) 𝐾 × 𝑌 + 𝐼 − 𝑍. 

47.  In the following problem figure, find the suitable figure in place of the question mark. 

        ̆ĕ �ચƛહના ંƨથાન,ે આપેલ િવકƣપોમાથંી   યોƊય આȢૃિત પસદં કરો. 

                    

                   
 

(Continued on slip no. 8) 



Slip No. 8 of 8 

C 
 

48. In the problem figure given below, which of the following answer figures comes in the 
place question mark? 

        ̆ĕ મા ંઆપેલી આȢૃિતઓને (Problem Figure) ƚયાન મા ંલેતા,ં ̆ĕ �ચƛહના ંƨથાને કઈ આȢૃિત આવશે?   

 

 
49.  What should come next in the problem figure? 
        ̆ ĕ મા ંઆપેલી (Problem Figure) આȢૃિતઓના ં˲મને ƚયાનમા ંલેતા,ં અȵુ˲ મ ેકઈ આȢૃિત આવશે? 

 

 
 

50. What should come in place of the question mark in the following? 

        ̆ĕ મા ંઆપેલી (Problem Figure) આȢૃિતઓને  ƚયાનમા ંલેતા,ં  ̆ĕ �ચƛહના ંƨથાને કઈ આȢૃિત આવશ?ે  

                             

     
 

 
____THE END____ 
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